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Let X DO Xp and Y D Yj be as in (5.6) of (A) for Xo = Ay, U--- U A,, , and
YO :Bao U"'UBa"—i'

Let
(5.30) S=U\ (sup(supp(p*) Usuppy(p*) U{a; : i <n}UXUY)+1).

For7i<namdoz€5‘7 let
(5.31) pio = ®inlp")
where @, , is the automorphism on Q‘; induced from a (¢,)) € F such that ¢
sends A,, order isomorphically to A,, 4 sends B,, order isomorphically to B,. For
i<mn,let S bea Q},—name such that
(532) |Fqt © Si={ae8:pn.cCG}.

X
Similarly to Lemma 4.5, we have
Claim 5.4.2. Fori <n, we have p* |l 8, is stationary”.
X

Thus, we are done by the following claim:
Claim 5.4.3.

P bt “V{Bos v Ba1) € (S0, w0 Sn1)) HR) = =@((Bo, ---, Bu1), )7
|- Suppose otherwise. Then, there would be ¢ <qt, p* and By ..., Bn-1 € S such

X

that
(5:33) alrq “{Bos s Bar) € (S0 8na) A HO) = ({0, s B 1), @) 7
Let (¢,%) € F be such that ¢ sends A, order isomorphically to Ag, and ¢ sends
B, order isomorphically to Bg, for all ¢ < n (and vice versa). Let @ be the
automorphism on Q}( induced by (¢,1). Thus ® sends @,, to @g, for i < n by
(5.28), (e).

Let X' = @& !"supp(q) \ X. By (5.6) in (A), there is (¢,v)) € F such that
(5.34) ¢ | X =idx, ¥ | Y =idy ; and
(5.35) ¢"X'N(XUX")=0.
Tet U : Q}. — Q} be the automorphism on Q}. induced from (¢,v). By (5.34),
we have W(&,,) = &,, for all i < n and ¥(a) = a. Hence

() g, “H) | ~@(dag oo B 1, @) " -
Tt follows that
(L) Iqr, “HM) b (@ s oo Sy @)

But this is a contradiction since ¢ and ®(¥(p*)) are compatible by (5.35) and

Lemma 5.3. — (Claim 5.4.3)
0 (Theorem 5.4)
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#include<stdio.h>
#include<math.h>
/*
x"3-4x"2+3x+2=0 0 2.1 00 3.0 J00O0OOOODOOO
*/
#define LEFT 2.1
#define RIGHT 3.0
#define N 40 /x OO =/
extern double f(double x);
main()
{
double a,b,c, fa, fb, fc;
int 1i;
a=LEFT; b=RIGHT;
for(i=0;i<N;i++)
{
c=(a+b)/2.0;
if (£(a)*£f(c)<0.0)
b=c;
else
a=c;
}

printf ("The (numerical) solution is: x = %1f\n",c);

double f (%)
double x;
{ return (x*x*x—4*x*x+3*x+2) ;

}
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double f (x)
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